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Performance Instructions
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quarter tone lower
quarter tone higher

accent (weak, normal, strong)

A £\ 1 fermata (short < 1 sec, normal 1-3sec, long > 3sec)

Dynamics

All dynamics are to be understood as relative dynamics.

ppp thus means “play as soft as possible”, fff means “play
as loud as possible (but not in a distorted way)”
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seagull
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crack

bow scrape

§

sul ponticello. Bow close to the bridge

sul tasto. Bow on the fingerboard

col legno battuto. Hit with the wooden side of the bow onto the string.

col legno tratto. Bow with the wooden side of the bow.

1/2 col legno tratto. Bow with the wooden side and with the hair of the bow.
getato

excessive bow pressure

bow parallely to string

damp string(s) with fingers of the left hand

on the bridge

directly behind the bridge
behind the bridge

on the wound part of the string
on the tailpiece

on the tailpiece-wires

seagull effect. play a flagoelet as notated,
but perform a gliss without changing the
distance between the two string contact
points. The interval is thus changing
continuously giving a seagull like cry.

with bow tension screw

bartok pizz.

The hair of the bow is pressed forcefully against the open
string with the middle finger of the bow hand wrapped around
the stick and frog of the bow and the thumb braced against the
bridge. The various pitches are produced depending upon the
contact point between bow and string.

bow scrape on the top of the instrument: the bow is laid
across the top and the stick is ground over the hair

bow on the scroll
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